s rates of change aces, linear maps, matrix mult, independence
HE COURSE 3.5, 3.6) is m attached to a pring Force of magnit KX towards equilibrium position Q: given the initial position and velocity, predict the movement,

2) Concentration (section	1.1.5.)
B ~ Wate	r GIVEN THE INITIAL AMOUNT
salt	
	RATES, PREDICT THE
water t	FUTURE AMOUNTS OF
salt 2 G	SAT
Vo How his	3) is thrown upward at speed vo. gh does it go? if there is air resistance?
4) Pursuit curves mouse cat	Given the path followed by the mouse and the speed of the cat at the mouse, find the path followed by the cat.

1.1 DIFFE	RENTIAL	EQUATIONS	AND MAT	HEMATICAL	· · · · · · · · · · · · · · · · · · ·	SOLUTION
EQUATION: objects	a <u>possible</u>	relationscl	nip between	some unspecifie	d mather	GENERA SOL.
Exan	nples: X+	3 = 5 +38+2=93	algebraic eqs	$\begin{bmatrix} 1 & 2 \\ 3 & 4 \end{bmatrix} \begin{bmatrix} x \\ y \end{bmatrix}^2$ $xos t + e^t$		• • • • • • •
DIFFEREN functions		•		between so	me uns (pecified
EXAMPL	E: y'(+) =	0, 170 <	-a functio all poir	n whose deriv	ative is	0 at
y, = 3	~a f	unction th	at equals	its on deri	vative	· · · · · · · ·
8, = 8 (1		×8,= 8		· · · · · · · · · · · ·	· · · · · ·	· · · · · · · ·
A SOLU is true				ction for which		relation

y'(x) = 0	any constant function is a solution
$\mathcal{A}_{\mathcal{A}} = \mathcal{A}_{\mathcal{A}}$	$y(x) = e^x$ is a solution y(x) = 0 is a solution $y(x) = Ce^x$ is a solution for any number C
A = - A	y(x) = sim x is a solution y(x) = cos x is also a solution y(x) = sim x + cos x is also a solution
y'=y(1-y)	y(x) = 0 is a solution y(x) = 1 is a solution
$\beta' = c$ $c' = -\beta$ $\beta(0) = 0$ c(0) = 1	$ \begin{aligned} \mathcal{S}' &= \mathcal{L} \\ \mathcal{L}' &= +\mathcal{S} \\ \mathcal{S}(0) &= 0 \\ \mathcal{L}(0) &= 1 \end{aligned} $
· · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·

A GENERAL SOLUTION to a diff.eq. is a formula with some free para- meters that generates ALL solutions when numeric values are attributed to the parameters.				
$\underbrace{EX}_{\mathbf{x}} \mathbf{x} = 0$			ne-parameter f 2 same gen. sol	
2) y' = y Gene	eral sol. y(t) =	Cet	· · · · · · · · · · ·	
3) y" = y Gene				rameter fam"
4)y' = y(1-y)	sol. y	$g(t) = \frac{e^{t}}{e^{t} + C}$	· · · · · · · · · · · ·	· · · · · · · ·
Check that t	his formula gi	ves an actu	al solution.	· · · · · · · ·
y' = y(1)	- 9)			· · · · · · · ·
$\left(\frac{e^{t}}{t}\right)^{1} \stackrel{?}{=} \frac{e^{t}}{t}$	$\frac{t}{1-\frac{e}{1-$		· · · · · · · · · · · ·	· · · · · · · ·
	et et		· · · · · · · · · · · ·	· · · · · · · ·

$\left(\frac{e^{t}}{e^{t}+c}\right)^{1}$	$\stackrel{?}{=} \frac{e^{t}}{e^{t}+c} \left(1 - \frac{e^{t}}{e^{t}+c}\right)$
$(e^{t}+c)e^{t}-e^{t}$ $(e^{t}+c)^{2}$	$\frac{e^{t}}{e^{t}} = \frac{e^{t}}{e^{t}+c} = \frac{c}{e^{t}+c}$
	this not the general solution? not generate y=0.
. .	. .